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LIS(A[1..n]):
ifn=0
FILTER(A[1..n], x): return 0
J ‘_'1 else
for i —1lton max « LIS(prev,A[2..n])
if A[i] >x o L « 1+ LIS(A[1], FiLTER(A[2..n],A[1]))

BljleAlil; jej+1 if L > max

return B[1..j] max «— L
return max
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MEeMmF1Bo(n):
if (n < 2)
return n
else
if F[n] is undefined
F[n] « MEmMF1BO(n — 1) + MEMF1BO(n — 2)
return F[n]
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ITERF1BO(N):
F[0] <O
F[1] <1
fori —2ton
Fl[i]«— F[i—1]+F[i—2]
return F[n]
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ITERFIBO2(Nn):

prev « 1

curr < 0O

fori—1ton
next «— curr + prev
prev « curr
curr < next

return curr
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“Then:

0 ifj>n
LIS(i,j) = { LIS(i,j + 1) if Ali]>Alj]
max{LIS(i,j+ 1), 1+ LIS(j,j+ 1)} otherwise
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0 ifj>n
LIS(i,j) = { LIS(i,j+1) if A[i] > A[j]

max{LIS(i,j+ 1), 1+ LIS(j,j+1)} otherwise
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LIS(A[1..n]):
A[0] « —o0 ((Add a sentinel))
fori —0ton ((Base cases))

LIS[i,n+1]«0

for j < n downto 1
fori—0toj—1
if A[i] > A[j]
LIS[i,j]« LIS[i,j+1]
else
LIS[i,j] < max{LIS[i,j+ 1], 1+ LIS[j,j+ 1]}

return LIS[0,1]
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